CYCLO®Drive for Servo Motors
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BOREE, 6 11 15 17 21 29 43 59 87

B J |Gb?2| J |GD2| J (GD*| J (GD?2| J |GD?| J |GD*| J |(GD?*| J | GD?| J |GD?
6070 6075 | 0.171 | 0.682 | 0.114 | 0.454 | 0.102 | 0.409 | 0.100 | 0.398 | 0.095 | 0.379 | 0.091 | 0.362 | 0.088 | 0.351 | 0.087 | 0.346

6090 6095 | 0.955 |3.820 | 0.593 | 2.370 | 0.605 | 2.420 | 0.530 | 2.120 | 0.403 | 1.610 | 0.325 | 1.300 | 0.248 | 0.993 | 0.181 | 0.723 | 0.178 | 0.712
6100 6105 | 0.768 | 3.070 | 0.340 | 1.360 | 0.320 | 1.280 | 0.224 | 0.897 | 0.258 | 1.030 | 0.163 | 0.651 | 0.143 | 0.573 {0.132 | 0.528 | 0.128 | 0.511
6120 6125 | 3.100 |12.400| 1.560 | 6.240 | 1.615 | 6.460 | 1.205 | 4.820 | 1.390 | 5.560 | 0.840 | 3.360 | 0.825 | 3.300 | 0.788 | 3.150 | 0.760 | 3.040
6130 6135 | 8.575 |34.300| 4.325 17.300| 3.300 |13.200/ 3.025 |12.100| 2.500 {10.000| 2.158 | 8.630 | 1.960 | 7.840 | 1.910 | 7.640 | 1.850 | 7.400
6140 6145 | 9.425 |37.700| 4.550 {18.200| 3.325 |13.300| 2.950 |11.800| 2.525 10.100| 2.158 | 8.630 | 1.960 | 7.840 | 1.910 | 7.640 | 1.850 | 7.400
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o= @11 214 @16 @19 @22 @24 @28 @32 @35

B & J |Gb*| J |GD* J |GD*| J |GD*| J (GD*| J |GD*| J (GD?2| J |GD?| J |GD?
6070 6075 | 0.122 1 0.487 | 0.107 | 0.426 | 0.118 | 0.471

6090 6095 | 0.149 1 0.594 | 0.134 | 0.534 | 0.145 | 0.579 | 0.995 | 3.980 | 1.050 | 4.200 | 1.050 | 4.200

6100 6105 | 0.151 |1 0.604 | 0.136 | 0.543 | 0.147 | 0.589 | 0.998 | 3.990 | 1.053 | 4.210 | 1.053 | 4.210 | 2.308 | 9.230 2.900 |11.600
6120 6125 | 0.495 | 1.980 | 0.470 | 1.880 | 0.493 | 1.970 | 1.225 | 4.900 | 1.280 | 5.120 | 1.260 | 5.040 | 2.550 |10.200| 3.125 |12.500| 3.150 |12.600
6130 6135 3.450(13.800
6140 6145 3.450(13.800
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J1 =0.593

J2 =0.995

J =h+J2=0.593+0.995
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